## Laplace Inverse by Table Lookup

The first thing we need to be able to do is to use the Laplace table to find the inverse Laplace transform. We will illustrate this entirely by examples.

Notation: The inverse Laplace transform will be denoted $\mathcal{L}^{-1}$.
Example 1. Find $\mathcal{L}^{-1}(1 /(s-2))$.
Solution. Use the table entry $\mathcal{L}\left(e^{a t}\right)=1 /(s-a)$ :

$$
\mathcal{L}^{-1}(1 /(s-2))=e^{2 t} .
$$

Example 2. Find $\mathcal{L}^{-1}\left(1 /\left(s^{2}+9\right)\right)$.
Solution. Use the table entry $\mathcal{L}(\sin (\omega t))=\omega /\left(s^{2}+\omega^{2}\right)$ and linearity:

$$
\mathcal{L}^{-1}\left(\frac{1}{s^{2}+9}\right)=\frac{1}{3} \mathcal{L}^{-1}\left(\frac{3}{s^{2}+3^{2}}\right)=\frac{1}{3} \sin (3 t) .
$$

Example 3. Find $\mathcal{L}^{-1}\left(4 / s^{2}\right)$.
Solution. Use the table entry $\mathcal{L}(t)=1 / s^{2}: \quad \mathcal{L}^{-1}\left(4 / s^{2}\right)=4 t$.
Example 4. Find $\mathcal{L}^{-1}\left(4 /(s-2)^{2}\right)$.
Solution. Use the $s$-shift formula $\mathcal{L}\left(e^{z t} f(t)\right)=F(s-2)$, where, in this case,

$$
F(s)=4 / s^{2} \Rightarrow f(t)=4 t \text { by example (3). }
$$

Therefore, $\mathcal{L}^{-1}\left(4 /(s-2)^{2}\right)=\mathcal{L}^{-1}(F(s-2))=e^{2 t} f(t)=e^{2 t} 4 t$.
Example 5. Find $\mathcal{L}^{-1}\left(\frac{1}{s^{2}+4 s+13}\right)$.
Solution. We first need to complete the square

$$
s^{2}+4 s+13=s^{2}+4 s+4+9=(s+2)^{2}+9 .
$$

We have a shifted function $F(s+2)$, where $F(s)=1 /\left(s^{2}+9\right)$. Using example (2), we know that $f(t)=\sin (3 t) / 3$, so using the $s$-shift rule we get

$$
\mathcal{L}^{-1}\left(\frac{1}{s^{2}+4 s+13}\right)=\mathcal{L}^{-1}(F(s+2))=e^{-2 t} \frac{\sin (3 t)}{3} .
$$

Example 6. Find $\mathcal{L}^{-1}\left(\frac{s}{\left(s^{2}+\omega^{2}\right)^{2}}\right)$.
Solution. We haven't seen this formula yet, but there is a table entry, which gives: $\frac{t}{2 \omega} \sin (\omega t)$.

Example 7. Find $\mathcal{L}^{-1}\left(\frac{1}{\left(s^{2}+\omega^{2}\right)^{2}}\right)$.
Solution. This is also a table entry, answer: $\frac{1}{2 \omega^{3}}(\sin (\omega t)-\omega t \cos (\omega t))$.

MIT OpenCourseWare
http://ocw.mit.edu

### 18.03SC Differential Equations[]

Fall 2011 [

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.

